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N. Cotter

Ex:

K 1001y, 5 nH

20 mQ 2111)

4 mQ lil

After being closed for a long time, the switch opens at = 0. Find i1(¢) for > 0.

gellnr  £=07 madel. (4o Find L {57Y L asts Lke wirs

e =mee Bhat the 12V scurde L& aersss
the 20w 21 anel  the Ltz

. Lb = J2W = oo A

A, '..me = lop- §a0A = 40 kAL

We Lind L, frem e current sum gt e cevter nade



=100Ly, 4+ by = Lyle™} = 0A
~tokA + KA = L (o)
By LL{G‘}= -~ 57 kA

%207 wodel: [ {0¥) = [ (&} =-57kA
L modeled =i current sairce

Il

Because of -the open circuit o Hie leff,
we have Ly=o ard i, =0,

Frem a cdurrent symmation at the
denter pede, we have Lt{f.:l'z' =£‘.‘{U""J=-5?H,

¢, (0%) = — 57 kA

t - o0 medel: {4y Find £|C~L4=ﬂﬂ L acts (ike wire

l_ 110 lﬂ Lopan
cire)

Lelp=0 + Ly

2o T Lanp i,[_,t{-[;,-am] 12l




we have |2V ugeress the G,

L{t*a)} = 12y = 3 kA
e g

medel Sfor T= L/Rp -
oLy 2
wigus Cpm, R

Liga® _T Ty
REMA DL wma

we  observe that +he “hevenin eguivalent
deen Frem  the  terminals where e Lo

- LS

dopnested i# just the Bwmm and 12V

We $ind Ry, by durning off He lzv
Souroe c:'-ﬂuﬂg'_h::jr Lt to He a wire., e
see Bop = Fmir. CThe cirewit (s
already «a  Therenin egaivalent, )

- T = .l-; - ﬂﬂu = I|15_.-¢'L5
Ry 4 prTL.


necotter
Typewritten Text
5

necotter
Typewritten Text
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